Sega Hologram Marquee *
Assembly Instructions

Parts List
Hardware

6) 1/4" 20X2 1/2" Machine Screws
2) 1/4" 20X3 1/2" Machine Screws
4) 1/4" 20X2 1/2" Wing Nuts

4) 1/4" Washers

#8X3/4" Sheet Metal Screws

2) L-Brackets

2) Plastic End Cap

1) Allen Wrench

OCOMMUO >
&

’ |

1) Light Box Including:

H. 1) Light Fixture
| 1) Light Bulb

2) Square Poles

J. 1) 12" Cord and Plug Wired to Light
Box thru Pole
K. 1) Rubber Grommet

1) Plex and Graphic Sub Pack:

L. 1) Clear 12"X40" Plex
M. 1) Frosted 12"X40" Plex
N. 1) Hologram Graphic Panel

I,—_.'

BEELINE

GROUP INC

(408)432-8333
Made in USA

Page 1



Figure 1. Remove end panel from light box
using allen wrench supplied and
install light bulb (1) in light fixture
(H).

Figure 2. Install end caps (G) in 1"
square poles. Affix 1"
square poles to
light box (H) with
2 1/2" Machine
screws on outside
and wing nuts (C)
oninside. (Note:
The end of the
poles with holes
7" apart attaches
to the light box).

Jr_# 28

Page 2



Figure 3. Peel protective coating from front and rear of both clear plex (L) and
frosted plex (M). Form a sandwich of the three panels with frosted
on inside (M) hologram graphics panel in middle (N) and clear
panel on outside. Slide the sandwich into the groove slot in light
box.

Figure 4. Re-assemble the end panel to the
light box.




Figure 5.

Remove the rear door of the
Hologram Game. (Disconnect Fan
Connection).

Remove the two (2) outermost T-
27 Torx screws on the rear of the
cabinet that secure the Canopy to
the rear Cabinet base.

Page 4




%e- -

Figure 6. Preliminarily mount the Hologram sign to the game using the two (2) 10-24 by 3
1/2" screws and washers in place of the screws removed above.

Install the sheet metal brackets on the left and right inside of the Cabinet by
using the two (2) 10-24 X2 1/3" screws and washers through the existing holes in
the cabinet. (Note: This allows for proper alignment of the brackets when they
secured to the Cabinet).

Secure the left and right bracket by using the (4) #8 Wood Screws provided.
Verify that all screws are secure and tight.

Connect Rear Door Fan and remount Rear Door.

Figure 7. Installation is complete.

Page 5



